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VXPEX�;�SRVLWLI�������������������������������������������������������������������������������������
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7DEHO�������5HNDSLWXODVL�QLODL�GLVSODFHPHQW�PDNVLPXP�DNLEDW�JD\D�DQJLQ�NH�DUDK�

VXPEX�;�QHJDWLI������������������������������������������������������������������������������������
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'$)7$5�/$03,5$1�

/DPSLUDQ� � � � � � � � ��������+DODPDQ�

ϭ͘ *DPEDU�'HWDLO�(QJLQHHULQJ�'HVLJQ�8,1�5DGHQ�)DWDK�3DOHPEDQJ����������������[YLL

Ϯ͘ .RPELQDVL�%HEDQ�%HUGDVDUNDQ�61,������������������������������������������������������[[[L

ϯ͘ %HUDW�6HQGLUL�%DKDQ�%DQJXQDQ�GDQ�.RPSRQHQ�*HGXQJ�����������������������������[[[LLL

ϰ͘ %HEDQ� +LGXS� � 7HUGLVWULEXVL� 0HUDWD� 0LQLPXP� GDQ� %HEDQ� +LGXS� 7HUSXVDW�

0LQLPXP�������������������������������������������������������������������������������������������������������[[[Y

ϱ͘ 7HUUDLQ�([SRVXUH�&RQVWDQWV������������������������������������������������������������������������[[[L[

ϲ͘ 3HPRGHODQ�6WUXNWXU�3DGD�6$3�����������������������������������������������������������������������[O
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5,1*.$6$1�

$1$/,6,6�6758.785�72:(5�*('81*�81,9(56,7$6� ,6/$0�1(*(5,�
5$'(1� )$7$+� 3$/(0%$1*� 7(5+$'$3� %(%$1� $1*,1�
%(5'$6$5.$1�61,������±������0(1**81$.$1�352*5$0�6$3�����

.DU\D�7XOLV�,OPLDK�EHUXSD�VNULSVL��-XQL������

9HUOHV�2F\�&DQGUD��GLELPELQJ�ROHK�,U��<DNQL�,GULV��0�6F��06&(�

3URJUDP�6WXGL�7HNQLN�6LSLO��)DNXOWDV�7HNQLN�8QLYHUVLWDV�6ULZLMD\D��

[YL������KDODPDQ����JDPEDU�����WDEHO�����ODPSLUDQ�

/DKDQ�\DQJ�WHUEDWDV�PHQMDGL�VDODK�VDWX�SHUPDVDODKDQ�GDODP�SURVHV�SHPEDQJXQDQ�
SDGD�ZLOD\DK� SHUNRWDDQ�� VHKLQJJD�XQWXN�PHPDNVLPDONDQ� IXQJVL�GDUL� ODKDQ�\DQJ�
WHUVHGLD� GLODNXNDQ� SHPEDQJXQDQ� EDQJXQDQ� WLQJJL�� 6DODK� VDWX� KDO� \DQJ� SHUOX�
GLSHUKDWLNDQ�GDODP�PHUHQFDNDQ�EDQJXQDQ� WLQJJL�DGDODK�GDPSDN�GDUL�JD\D�DQJLQ�
\DQJ� DNDQ� EHNHUMD� SDGD� EDQJXQDQ� WLQJJL� WHUVHEXW�� 3HQHOLWLDQ� LQL� GLODNXNDQ� SDGD�
7RZHU� *HGXQJ� 8QLYHUVLWDV� ,VODP� 1HJHUL� 5DGHQ� )DWDK� 3DOHPEDQJ� GHQJDQ�
PHQJDQDOLVLV�EHEDQ�DQJLQ�EHUGDVDUNDQ�61,������±������PHQJJXQDNDQ�SURJUDP�
6$3������ 'HQJDQ� NHFHSDWDQ� DQJLQ� GDVDU� VHEHVDU� ��� P�V� EHUGDVDUNDQ� GDUL� GDWD�
%0.*��NLQHUMD�7RZHU�*HGXQJ�8QLYHUVLWDV�,VODP�1HJHUL�5DGHQ�)DWDK�3DOHPEDQJ�
DNLEDW� EHEDQ� DQJLQ� \DQJ� EHNHUMD� WHUPDVXN� GDODP� NDWHJRUL� DPDQ�� GLVSODFHPHQW
WHUEHVDU�DGDODK���������P�SDGD�HOHYDVL�������P��

.DWD�NXQFL���%HEDQ�DQJLQ��%DQJXQDQ�WLQJJL��GLVSODFHPHQW
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6800$5<�

$1$/<6,6� 2)� 7+(� 72:(5� %8,/',1*� 2)� 7+(� 67$7(� ,6/$0,&�
81,9(56,7<�2)�5$'(1�)$7$+�3$/(0%$1*�21�:,1'�/2$'6�%$6('�
21�61,�����������86,1*�7+(�6$3�����352*5$0�

$�WKHVLV��-XQH������

9HUOHV�2F\�&DQGUD��VXSHUYLVHG�E\�,U��<DNQL�,GULV��0�6F��06&(��

&LYLO�(QJLQHHULQJ��)DFXOW\�RI�(QJLQHHULQJ��6ULZLMD\D�8QLYHUVLW\��

[YL������SDJHV����LPDJHV�����WDEOHV�����DWWDFKPHQWV�

/LPLWHG�ODQG�EHFDPH�RQH�RI�WKH�SUREOHPV�LQ�WKH�SURFHVV�RI�GHYHORSPHQW�LQ�WKH�XUEDQ�
DUHDV�� VR� DV� WR� RSWLPL]H� WKH� IXQFWLRQ� RI� WKH� DYDLODEOH� ODQG� FDUULHG� RXW� WKH�
FRQVWUXFWLRQ�RI�KLJK�EXLOGLQJV��2QH�RI� WKH�PRVW� LPSRUWDQW� WKLQJV�DERXW�EXLOGLQJ�
KLJK�EXLOGLQJV�LV�WKH�LPSDFW�RI�WKH�ZLQG�IRUFHV�WKDW�ZLOO�ZRUN�RQ�WKH�WDOO�EXLOGLQJV��
7KLV�UHVHDUFK�ZDV�FRQGXFWHG�LQ�WKH�7RZHU�RI�WKH�VWDWH�,VODPLF�8QLYHUVLW\�RI�5DGHQ�
)DWDK�3DOHPEDQJ�E\�DQDO\]LQJ�WKH�ZLQG�ORDG�EDVHG�RQ�61,������±������XVLQJ�WKH�
SURJUDP�6$3������:LWK�D�EDVLF�ZLQG�VSHHG�RI����P�V�REWDLQHG�IURP�%0.*��WKH�
7RZHU� RI� WKH� VWDWH� ,VODPLF� 8QLYHUVLW\� EXLOGLQJ� RI� 5DGHQ� )DWDK� 3DOHPEDQJ� LV�
FDWHJRUL]HG�VDIH�DJDLQVW�ZRUNLQJ�ZLQG�ORDG��7KH�ODUJHVW�GLVSODFHPHQW�LV���������P�
DW�HOHYDWLRQ�������P��

.H\�ZRUG���ZLQG�ORDG��KLJK�EXLOGLQJ��GLVSODFHPHQW�
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3(51<$7$$1�,17(*5,7$6�

<DQJ�EHUWDQGD�WDQJDQ�GL�EDZDK�LQL�����

1DPD� ���9HUOHV�2F\�&DQGUD��

1,0� ��������������������

-XGXO� � ���$QDOLVLV�6WUXNWXU�7RZHU�*HGXQJ�8QLYHUVLWDV�,VODP�1HJHUL�5DGHQ�)DWDK�
3DOHPEDQJ� 7HUKDGDS� %HEDQ� $QJLQ� %HUGDVDUNDQ� 6QL� ����� ±� �����
0HQJJXQDNDQ�3URJUDP�6DS�����

0HQ\DWDNDQ� EDKZD� 7XJDV� $NKLU� VD\D� PHUXSDNDQ� KDVLO� NDU\D� VHQGLUL�
GLGDPSLQJL� WLP� SHPELPELQJ� GDQ� EXNDQ� KDVLO� SHQMLSODNDQ�SODJLDW�� $SDELOD�
GLWHPXNDQ�XQVXU�SHQMLSODNDQ�SODJLDW�GDODP�7XJDV�$NKLU� LQL��PDND�VD\D�EHUVHGLD�
PHQHULPD�VDQNVL�DNDGHPLN�GDUL�8QLYHUVLWDV�6ULZLMD\D�VHVXDL�DWXUDQ�\DQJ�EHUODNX����

'HPLNLDQ�� SHUQ\DWDDQ� LQL� VD\D� EXDW� GDODP� NHDGDDQ� VDGDU� GDQ� WDQSD� DGD�
SDNVDDQ�GDUL�VLDSDSXQ��

� � � � � � � ,QGUDOD\D���$JXVWXV������

9HUOHV�2F\�&DQGUD� �
� � � � � � � 1,0����������������
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+$/$0$1�3(56(78-8$1�

.DU\D� WXOLV� LOPLDK� LQL� EHUXSD� VNULSVL� LQL� GHQJDQ� MXGXO� ³$QDOLVLV� 6WUXNWXU� 7RZHU�
*HGXQJ�8QLYHUVLWDV�,VODP�1HJHUL�5DGHQ�)DWDK�3DOHPEDQJ�7HUKDGDS�%HEDQ�$QJLQ�
%HUGDVDUNDQ� 61,� ����� ±� ����� 0HQJJXQDNDQ� 3URJUDP� 6$3����´� WHODK�
GLSHUWDKDQNDQ� GLKDGDSDQ� 7LP� 3HQJXML� .DU\D� 7XOLV� ,OPLDK� )DNXOWDV� 7HNQLN�
8QLYHUVLWDV�6ULZLMD\D�SDGD�WDQJJDO������-XQL�������

3DOHPEDQJ�����-XQL������
7LP�SHQJXML�NDU\D�WXOLV�LOPLDK�EHUXSD�VNULSVL���

.HWXD���
�� ,U��<DNQL�,GULV��0�6F���06&(�� � � � � �

1,3���������������������

$QJJRWD���
�� 3URI��,U��(ULND�%XFKDUL��0�6F���3K�'���� �

1,3���������������������

�� 'U��6DORPD��67��07� � � � �
1,3���������������������

�� 'U��,U��+DQDILDK��06� � � � �
1,3���������������������

�� 'U��(GL�.DGDUVD��67��07� � � �
1,3���������������������

�� $]WUL�<XOL�.XUQLD��67��0�(QJ��� � �
1,3���������������������

�� 'U��6LWL�$LV\DK�1XUMDQQDK��67��07� � �
1,3���������������������
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3(51<$7$$1�3(56(78-8$1�38%/,.$6,�

<DQJ�EHUWDQGD�WDQJDQ�GL�EDZDK�LQL����

1DPD� ���9HUOHV�2F\�&DQGUD��

1,0� ��������������������

-XGXO� � ���$QDOLVLV�6WUXNWXU�7RZHU�*HGXQJ�8QLYHUVLWDV�,VODP�1HJHUL�5DGHQ�)DWDK�
3DOHPEDQJ� 7HUKDGDS� %HEDQ� $QJLQ� %HUGDVDUNDQ� 61,� ����� ±� �����
0HQJJXQDNDQ�3URJUDP�6$3�����

0HPEHULNDQ� L]LQ� NHSDGD� 3HPELPELQJ� GDQ� 8QLYHUVLWDV� 6ULZLMD\D� XQWXN�
PHPSXEOLNDVLNDQ�KDVLO�SHQHOLWLDQ�VD\D�XQWXN�NHSHQWLQJDQ�DNDGHPLN�DSDELOD�GDODP�
ZDNWX�VDWX� WDKXQ� WLGDN�PHPSXEOLNDVLNDQ�NDU\D�SHQHOLWLDQ� VD\D��'DODP�NDVXV� LQL�
VD\D� VHWXMX� PHQHPSDWNDQ� 3HPELPELQJ� VHEDJDL� SHQXOLV� NRUHVSRQGHQVL�
�FRUUHVSRQGLQJ�DXWKRU����

'HPLNLDQ�� SHUQ\DWDDQ� LQL� VD\D� EXDW� GDODP� NHDGDDQ� VDGDU� GDQ� WDQSD� DGD�
SDNVDDQ�GDUL�VLDSDSXQ��

,QGUDOD\D����$JXVWXV������

� � � � � � 9HUOHV�2F\�&DQGUD� �
� � � � � � � 1,0����������������
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'$)7$5�5,:$<$7�+,'83�

1DPD� � � ��9HUOHV�2F\�&DQGUD��

-HQLV�.HODPLQ�� ��/DNL�ODNL�

(�PDLO�� � ��9HUOHVRF\�FDQGUD#JPDLO�FRP�

5LZD\DW�3HQGLGLNDQ�� ��

,QVWLWXVL�3HQGLGLNDQ� -XUXVDQ� 0DVD�6WXGL�

6'�1�����;,�.272�'802� �� ����������

603�1���681*$,�3(18+� �� ����������

60$�1���681*$,�3(18+� ,3$� ����������

81,9(56,7$6�65,:,-$<$� 7(.1,.�6,3,/� ����������

'HPLNLDQ��ULZD\DW�KLGXS�SHQXOLV�\DQJ�GLEXDW�GHQJDQ��VHEHQDUQ\D��

'HQJDQ�+RUPDW��

9HUOHV�2F\�&DQGUD
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%$%���

3(1'$+8/8$1�

������ /DWDU�%HODNDQJ�

/XDV� ODKDQ� \DQJ� WHUEDWDV�PHQMDGL� VDODK� VDWX� SHUPDVDODKDQ� GDODP� SURVHV�

SHPEDQJXQDQ� SDGD�ZLOD\DK� SHUNRWDDQ�� VHKLQJJD� XQWXN�PHPDNVLPDONDQ� IXQJVL�

GDUL� ODKDQ� \DQJ� WHUVHGLD� GLODNXNDQ� SHPEDQJXQDQ� EDQJXQDQ� WLQJJL�� 8QWXN�

NHDPDQDQ�GDQ�NHQ\DPDQDQ�GDUL�EDQJXQDQ�WLQJJL�PHPHUOXNDQ�VXDWX�NDMLDQ��DQDOLVD�

GDQ� SHUKLWXQJDQ� VHEHOXP�SURVHV� SHPEDQJXQDQ�GLODNVDQDNDQ�� 6DODK� VDWX�EDJLDQ�

\DQJ�KDUXV�GLSHUKDWLNDQ�GDODP�PHUHQFDNDQ�EDQJXQDQ�WLQJJL�DGDODK�GDPSDN�GDUL�

JD\D�DQJLQ�\DQJ�DNDQ�EHNHUMD�SDGD�EDQJXQDQ�JHGXQJ�WLQJJL�WHUVHEXW��

3HQHOLWLDQ�EHUIRNXV�SDGD�EHEDQ�DQJLQ�SDGD�EDQJXQDQ�WLQJJL�NDUHQD�EHEDQ�

DQJLQ�\DQJ�WHUMDGL�SDGD�JHGXQJ� WLQJJL�DNDQ�VDQJDW�EHUSHQJDUXK�SDGD�NHDPDQDQ�

GDQ�NHQ\DPDQDQ�GDUL� EDQJXQDQ� WLQJJL� WHUVHEXW�� KDO� LQL� GLNDUHQDNDQ� ROHK�EHEDQ�

DQJLQ�\DQJ�EHNHUMD�SDGD�JHGXQJ�EHUEDQGLQJ�OXUXV�GHQJDQ�WLQJJL�JHGXQJ�LWX�VHQGLUL��

VHPDNLQ�WLQJJL�JHGXQJ�PHQ\HEDENDQ�VHPDNLQ�EHVDU�JD\D�DQJLQ�\DQJ�DNDQ�EHNHUMD�

SDGD�EDQJXQDQ�WHUVHEXW��6RHODUVR���������

3HUSLQGDKDQ�ODWHUDO�\DQJ�WHUMDGL�DNLEDW�GDUL�JD\D�DQJLQ�\DQJ�EHNHUMD�SDGD�

JHGXQJ�GDSDW�PHQMDGL�GDVDU�GDUL�SHQHQWXDQ�EDWDV�NHPDPSXDQ�EDQJXQDQ�JHGXQJ�

WHUVHEXW�GDODP�PHQHULPD�JD\D�DQJLQ��/RQJDULQL���������/RQJDULQL�PHQJJXQDNDQ�

(XURFRGH���GDQ�WKH�,WDOLDQ�GHVLJQ�FRGH�VHEDJDL�VWDQGDU�GDODP�SURVHV�DQDOLVLVQ\D�

GDQ�PHQJJXQDNDQ�JHGXQJ�SHUNDQWRUDQ�\DQJ�WHUOHWDN�GL�,WDOLD�EDJLDQ�XWDUD�VHEDJDL�

REMHN�SHQHOLWLDQ��.HUXQWXKDQ�\DQJ�WHUMDGL�SDGD�EDQJJXQDQ�WLQJJL�VDQJDW�EHUEDKD\D�

GDQ�GDSDW�PHQLPEXONDQ�NHUXJLDQ�\DQJ�EHVDU�GDODP�ELGDQJ�ILQDQVLDO�GDQ�NRUEDQ�

MLZD��

6DODK�VDWX�EHQWXN�NHUXVDNDQ�EDQJXQDQ�\DQJ�GLDNLEDWNDQ�ROHK�JD\D�DQJLQ�

DGDODK�NHUXVDNDQ�\DQJ�WHUMDGL�SDGD�GDHUDK�-DNDEDULQJ�SDGD�EXODQ�2NWREHU�������

NHUXVDNDQ� WHUVHEXW� WHUMDGL� SDGD� DWDS� EHEHUDSD� YHQHX�GDQ URERKQ\D� ODPSX� MDODQ�

\DQJ�PHQLPEXONDQ�NHUXJLDQ�\DQJ�EHVDU�GDODP�ELGDQJ�ILQDQVLDO��



��

����������������������������������8QLYHUVLWDV�6ULZLMD\D�

3DGD�SHQHOLWLDQ�LQL�PHQJJXQDNDQ�61,�����������VHEDJDL�GDVDU�SHUKLWXQJDQ�

GDODP�DQDOLVLV�EHEDQ�DQJLQ��KDO�LQL�PHQJLNXWL�SHQHOLWLDQ�\DQJ�WHODK�GLODNVDQDNDQ�

ROHK� 6RHODUVR� SDGD� WDKXQ� ������ 3HQHOLWLDQ� PHQJHQDL� GDPSDN� EHEDQ� DQJLQ�

GLODNXNDQ�SDGD�7RZHU�*HGXQJ�8QLYHUVLWDV�,VODP�1HJHUL�5DGHQ�)DWDK�3DOHPEDQJ�

\DQJ�WHUOHWDN�.RWD�3DOHPEDQJ��3URYLQVL�6XPDWHUD�6HODWDQ�WHSDWQ\D�GL�NLORPHWHU�

����-DODQ�3URIHVRU�.LDL�+DML�=DLQDO�$ELGLQ�)LNUL�GLNDUHQDNDQ�EDQJXQDQ�LQL�DGDODK�

VDODK� VDWX� EDQJXQDQ� WLQJJL� \DQJ� EHUORNDVL� GL� .RWD� 3DOHPEDQJ� GHQJDQ� WLQJJL�

JHGXQJ�������P�\DQJ� WHUGLUL�GDUL��� ODQWDL�GDQ� OXDV�JHGXQJ�����P���)XQJVL�GDUL�

EDQJXQDQ�JHGXQJ�LQL�DGDODK�PHQMDGL�JHGXQJ�SHUNXOLDKDQ�\DQJ�WHUGLUL�DWDV�UXDQJDQ�

NHODV��ODERUDWRULXP�NRPSXWHU��NDQWRU�GHNDQ��SHUSXVWDNDDQ�GDQ�UXDQJDQ�VHUEDJXQD��

����� 5XPXVDQ�0DVDODK�

)RNXV�XWDPD�SHUPDVDODKDQ�SDGD�SHQHOLWLDQ�LQL�PHQJDFX�SDGD�ODWDU�EHODNDQJ�

\DQJ�WHODK�GLSDSDUNDQ�DGDODK�VHEDJDL�EHULNXW�LQL��

�� %DJDLPDQD� SHUKLWXQJDQ� EHEDQ� DQJLQ� \DQJ� EHNHUMD� SDGD� 7RZHU�

*HGXQJ�8,1�5DGHQ�)DWDK�3DOHPEDQJ�EHUGDVDUNDQ�61,�����������"�

�� %DJDLPDQD� NLQHUMD� 7RZHU� *HGXQJ� 8,1� 5DGHQ� )DWDK� 3DOHPEDQJ�

DNLEDW�JD\D�DQJLQ�\DQJ�EHNHUMD�EHUGDVDUNDQ�61,�����������"�

����� 7XMXDQ�3HQHOLWLDQ�

<DQJ�PHQMDGL�WXMXDQ�GDUL�GLODNXNDQQ\D�NHJLDWDQ�SHQHOLWLDQ�LQL�DGDODK�XQWXN�

PHPHQXKL�WXMXDQ�VHEDJDL�EHULNXW�LQL��

�� 0HQJDQDOLVLV� EHEDQ� DQJLQ� \DQJ� EHNHUMD� SDGD� 7RZHU�*HGXQJ�8,1�

5DGHQ�)DWDK�3DOHPEDQJ�DNLEDW�JD\D�DQJLQ�\DQJ�EHNHUMD�EHUGDVDUNDQ�

61,������������

�� 0HQJDQDOLVLV� NLQHUMD�7RZHU�*HGXQJ�8,1�5DGHQ�)DWDK�3DOHPEDQJ�

DNLEDW� JD\D� DQJLQ� \DQJ� EHNHUMD� EHUGDVDUNDQ� QLODL� GLVSODFHPHQW

PDVNVLPXP��



��

����������������������������������8QLYHUVLWDV�6ULZLMD\D�

����� 5XDQJ�/LQJNXS�3HQHOLWLDQ�

$GDSXQ� 3HUPDVDODKDQ� \DQJ� DNDQ� GLDQDOLVLV� SDGD� WXJDV� DNKLU� LQL� GLEDWDVL�

GHQJDQ�KDO�VHEDJDL�EHULNXW�LQL��

�� 3HODNVDQDDQ� DQDOLVLV� SDGD� VWUXNWXU� XWDPD� EDJLDQ� DWDV� JHGXQJ� \DQJ�

PHOLSXWL�EDORN��GLQGLQJ�JHVHU��SHODW�ODQWDL�GDQ�NRORP��

�� 3HUKLWXQJDQ�EHEDQ�KLGXS�GDQ�EHEDQ�DQJLQ�EHUGDVDUNDQ�61,������������

�� 3HUKLWXQJDQ�EHEDQ�PDWL�EHUGDVDUNDQ�33385*�������

�� $QDOLVLV� GDQ� SHPRGHODQ� VWUXNWXU� GHQJDQ� PHQJJXQDNDQ� SURJUDP�

NRPSXWHU�6$3����Y�����

�� 'DWD� SULPHU� SHQHOLWLDQ� EHUXSD� JDPEDU� WDPSDN�7RZHU�*HGXQJ�8,1�

5DGHQ�)DWDK�3DOHPEDQJ��

�� 'DWD� VHNXQGHU�SHQHOLWLDQ� EHUXSD�JDPEDU�'('�7RZHU�*HGXQJ�8,1�

5DGHQ�)DWDK�3DOHPEDQJ�GDQ�GDWD�NHFHSDWDQ�DQJLQ�PDNVLPXP�.RWD�

3DOHPEDQJ��



�������������������������������������������8QLYHUVLWDV�6ULZLMD\D�

'$)7$5�3867$.$�

%DGDQ� 6WDQGDULVDVL� 1DVLRQDO�� ������ 61,� ���������� %HEDQ� 0LQLPXP� 8QWXN�

3HUDQFDQJDQ� %DQJXQDQ� *HGXQJ� GDQ� 6WUXNWXU� /DLQ�� %DGDQ� 6WDQGDULVDVL�

1DVLRQDO��-DNDUWD��

&RPSXWHUV�DQG�VWUXFWXUHV��,QF��������6$3�����ZDWFK�DQG�OHDUQ�WXWRULDOV��85/��

KWWSV���ZZZ�FVLDPHULFD�FRP�LQ�SURGXFW�VDS������'LDNVHV����-DQXDUL�������

/RQJDULQL��1��&DEUDV��/���=XFFFD��0��&KDSDLQ��6��GDQ�0RXVDG��$��������6WUXFWXUDO�

,PSURYHPHQWV� IRU�7DOO�%XLOGLQJV�XQGHU�:LQG�/RDGV��&RPSDUDWLYH�6WXG\�

+LQGDZL���6KRFN�DQG�9LEUDWLRQ�9ROXPH�������

1L]DPDQL��=���7KDQJ��.�&���+DLGHU��%���6KDULII��0��������:LQG�/RDG�(IIHFWV�2Q�

+LJK�5LVH�%XLOGLQJV�,Q�3HQLQVXODU�0DOD\VLD��,23�&RQIHUHQFH�6HULHV��(DUWK�

DQG�(QYLURQPHQWDO�6FLHQFH��

3HPHULQWDK� 5HSXEOLN� ,QGRQHVLD�� ������ 3HUDWXUDQ� 3HODNVDQDDQ� � 8QGDQJ�8QGDQJ�

1RPRU����7DKXQ�������7HQWDQJ��%DQJXQDQ�*HGXQJ��3HPHULQWDK�5HSXEOLN�

,QGRQHVLD��-DNDUWD��

6RHODUVR�� %DHKDNL� GDQ� 0XUV\LGDQ�� $NKPDG�� ������ $QDOLVLV� 6WUXNWXU� *HGXQJ�

%HUWLQJNDW�'L� /LPD�:LOD\DK�'L� ,QGRQHVLD�7HUKDGDS� %HEDQ�*HPSD�'DQ�

%HEDQ� $QJLQ� %HUGDVDUNDQ� 61,� ���������� GDQ� 61,� ����������� -XUQDO�

)RQGDVL��9ROXPH���1R����

7DUDQDWK�� %XQJDOH� 6�� ������:LQG� DQG� HDUWKTXDNH� UHVLVWDQW� %XLOGLQJ� 6WUXFWXUDO�

$QDO\VLV�DQG�'HVLJQ��0DUFHO�'HNNHU��1HZ�<RUN��


